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ODPOWIEDZI ARKUSZ OSMOKLASISTY MATEMATYKA

Zadanie 1. (1 pkt)
C

Zadanie 2 (1 pkt)
PP

Zadanie 3 (1 pkt)
PF

Zadanie 4 (1 pkt)
AD

Zadanie 5 (1pkt)
B

Zadanie 6 (1 pkt)
B

Zadanie 7 (1 pkt)
C

Zadanie 8 (1pkt)
D

Zadanie 9 (1 pkt)
AC

Zadanie 10 (1 pkt)
D

Zadanie 11 (1 pkt)
A

Zadanie 12 (1pkt)
PF

Zadanie 13 (1 pkt)
B

Zadanie 14 (1 pkt)
A



Zadanie 15 (1 pkt)
C

Zadanie 16 (2 pkt)
122i

Zadanie 17 (3 pkt)
Pan Witold

Zadanie 18 (3 pkt)
Nie starczy

Zadanie 19 (3 pkt)
P =18j?

Zadanie 20 (4 pkt)
I sakiewka jest cigzsza



